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R SEAR ) 0.2)] (0.6)] (0.2) (=0.4)] (0.0)](-0.2)| (0.4)](-1.0)| (0.3)](-0.8)| (0.0)
101.2 |100.0 |100.1 | 1.55 | 1.57 [101.2 |101.0 |101.7 | 99.8 |101.2 [100.9 |101.7 | 99.7
R4 (-1.2)| (0.0)| (-0.1) (-L.2)| -LO)| 17| (0.2)](-1.2)| (0.9 | (-1.7)| (0.3)
100.0 |100.0 |100.0 | 1.10 | 1.09 [100.0 [100.0 |100.0 |100.0 |100.0 |100.0 |100.0 |100.0
R4 (4.6)| (-0.3)| (-0.3) (0.3) (1.9 (0.9 ](-0.3)| (0.6)] (2.2)] (1.2)| (0.0)
104.6 1 99.7 | 99.7 | 1.16 | 1.26 [100.3 [101.9 |100.9 | 99.7 [100.6 |102.2 |101.2 |100.0
RAEEST 4 9.7 B.0)| (3.0) 2.0 -0.7] 3. 1)|(-1.6)](-1.0)| (-3.6)] (0.1)|(-4.5)
114.7 |102.7 |102.7 | 1.31 | 1.40 [102.3 |101.2 |104.0 | 98.1 | 99.6 | 98.5 |101.3 | 95.5
Ri £ 1A 9.1)] (0.6)] 0.2 DL D] (1. 1| (0.0)] (1.8)|(-2.0)| (0.5)] (0. 1)] (1.2)[(-1.8)
109.4 [100.4 | 99.8 [ 1.20 | 1.32 | 86.3 | 85.9 [ 84.9 | 80.2 | 86.0 | 86.1 | 84.6 | 80.4
Ri 2 A 9.4 (.1 O0.7DfaroleLs)| (1.2)| (2.4)] @2.5){ 0.7 (0.0)]| (1.6)] (1.3)[(-3.4)
110.3 [100.8 |100.5 [ 1.21 | 1.34 | 84.5 | 86.8 [ 83.6 | 82.1 | 83.8 | 86.4 | 82.9 | 81.7
Ri 4 3 A 9.4)] (1.5)] (1.o)[(1L.8)]20.4)| (2.0)| (1.4)] (3.4)| (0.9)] (0.6)| (0.3)| (1.9)| (0.0)
111.4 {101.3 |101.1 [ 1.23 | 1.36 | 90.7 | 89.9 [ 90.6 | 85.5 | 89.5 | 88.9 | 89.4 | 84.6
R4 4 4 A (10.2)] 3.0)| (@.7)|@1s3.8)]@3.0)] (1.3)| (2.5)] (2.6) | (=0.2)| (-1.7)| (-0.2)] (<0.5) | (-2.9)
113.2 [101.8 [101.9 [ 1.24 | 1.39 | 88.7 | 89.1 [ 88.1 | 84.0 | 87.1 | 87.4 | 86.5 | 82.4
RA £ 5 A 9.6) 2.9 @.3)a3.6)] 7.9 (1.0)| 3.3)| (1.7)| 2.4)]1.8)| (0.9 ](-1.3)] (0.1)
113.3 |102.1 |101.9 [ 1.25 ] 1.38 | 87.0 | 88.8 | 86.1 | 85.4 | 85.2 | 87.1 | 84.3 | 83.8
Ri 4E 6 A O.7 @7 @3)a2.a[05.8)] 2.0)| 2.4 2.7)|(-4.0)] (-0.6)| (-4.6)| (0.0)]| (-6.2)
114.3 |102.1 |102.2 | 1.27 | 1.39 [141.9 |128.6 |153.9 |127.9 [139.0 |125.8 |150.7 |125.1
Ri 4E T A (9.3)] 3. 1) 3.0)l(2.3)](14.6)] (1.3)]|-1.4)] (3.3)](-0.3)] (-1.8)| (-4.3)| (0.1)](-3.2)
115.2 |102.7 |102.9 | 1.28 | 1.41 [118.1 |127.3 |120.4 |127.2 |115.0 |123.7 |117.2 |123.6
R4 £ 8 S 9.7 .6)] 38.903.9]103.6)] (1.7)](2.6)] (2.5)|(6.0)] (-1.7)| (-6.3)| (=1. 1) | (-9.6)
115.7 |103.2 |103.7 | 1.31 | 1.42 | 87.8 | 86.9 | 85.9 | 81.1 | 85.1 | 83.8 | 83.2 | 78.2
R4 4E 9 A (10.3)] 3.5)| 4. D|a4a.8)]02.6)] 2.2)[1.9] 3. 1) (-1.6)|(-1.2)| (-5.7)] (-0.4) | (-5.5)
116.9 |103.6 |104.0 | 1.32 | 1.43 | 86.7 | 83.8 | 86.0 | 80.5 | 83.7 | 80.6 | 83.0 | 77.4
R4 4E 10 A 0.9 | G.HlasH|02.6)] (1.4)| 2| @ D] 1.3)] 2.9 | 6. 1)|(-1.9)]| (-6.3)
118.1 |104.3 |104.7 | 1.34 | 1.43 | 86.4 | 85.0 | 85.7 | 81.2 [ 82.8 | 81.2 | 82.2 | 77.6
R4 £ 11 A (10. )| @5 | G.o)|as. 3.9 (1.9 3.5 3.0)|(-3.4)|(-2.5)| (8. 1)| (-1.5)| (-8.0)
119.1 |104.6 |104.7 [ 1.35 | 1.44 | 90.5 | 90.1 [ 90.0 | 87.3 | 86.5 | 86.1 | 86.0 | 83.4
Re £ 12 H (10.6)] 4.8)| (5.5)[(16.2)](10.9)] 4. 1)|[(-1.9)]| (5.0)| (-1.7)| (=0.6) | (<7.0)] (0.2)|(-6.8)
119.9 |104.9 |105.2 | 1.36 | 1.43 |178.4 |172.4 [192.3 |174.9 [170.1 |163.9 |183.3 |166.3
RS 1 H 9.6)] (5.1)] (5.8)[(12.5)] (6.8)] (0.8)| (0.5)| (2. 1)| (1.5)|(-4.1)| (-5. D] (-2.8) | (-4. 1)
119.9 |105.5 |105.6 [ 1.35 | 1.41 | 87.0 | 86.3 [ 86.7 | 81.4 | 82.5 | 81.7 | 82.2 | 77.1
RS 4E 2 A (8.3)] 3.9 “3)[ao.D| 5.2)| (0.8)|(-1.3)| (1.4)] (0.4)|(-2.9)| (-5.3)|(-2.3)| (-3.8)
119.5 |104.7 |104.8 [ 1.34 | 1.41 | 85.2 | 85.7 | 84.8 | 82.4 | 81.4 | 81.8 | 81.0 | 78.6
R5 4 3 A (7.4 3.8)| (4.2)| (7.3)| 1.5 (1.3)](=0.3)| (1.4)| (1.3)](-2.3)|(-4.3)| (-2.2) | (-2.8)
119.6 [105.2 [105.3 [ 1.32 | 1.34 | 91.9 | 89.6 | 91.9 | 86.6 | 87.4 | 85.1 | 87.4 | 82.2
RS 4 4 A 6. 1) (4.1)| 3.8)] (6.5)](=4.3)| (0.8)|(=1.8)| (1.0) | (-1.0)] (=3.2) | (-5.4)]| (-2.9) | (4. 6)
120.1 |106.0 |105.8 | 1.32 | 1.33 | 89.4 | 87.5 | 89.0 | 83.2 [ 84.3 | 82.7 | 84.0 | 78.6
RS 4 5 (5.3)] 3.8) B US| D] 2.9 3.0 (4.1)1(=3.2)](-0.9) | (-6.8)] (0.2)](-6.7)
119.3 |106.0 |105.7 | 1.31 | 1.31 | 89.5 | 85.8 | 89.6 | 82.7 | 84.4 | 81.2 | 84.5 | 78.2
RS G 6 A (4.3)] 3.9 B.3) @ |72 @.3)|ao. )| (3.4)]13.9](-1.6)| (6.6)|(-0.5)]|(10.3)
119.2 |106.1 |105.6 | 1.30 | 1.29 [145.1 |141.6 |159.1 |145.7 |136.8 |134.1 |150.0 |138.0
RS 4 7 A (3.6)] (3.9 (3.5 (0.8)](-9.9)
119.3 |106.7 |106.5 | 1.29 | 1.27 — — — — — — — —
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